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QUESTION 1

Which setting can a Citrix Administrator use to reduce server load, improve response time and increase the number of
SSL transactions per second on a SSL virtual server created with default settings?

A. Session Reuse
B. SSLv3

C. Session Timeout
D. SSLv2 Redirect
Correct Answer: C

Reference: https://docs.citrix.com/en-us/netscaler/12/load-balancing/load-balancing-manage-clienttraffic/ client-idle-
timeout-value.html

QUESTION 2

Which NetScaler mode is commonly referred to as “inline mode\\'?

A. One-Arm Mode

B. Use Source IP (USIP)

C. MAC-based Forwarding

D. Two-Arm Mode

Correct Answer: D

Explanation: In an inline mode (also called two-arm mode) setup, you connect the NetScaler appliance to the network

through multiple VLANs. Reference: https://docs.citrix.com/zh-cn/netscaler/11/traffic-management/load-balancing/load-
balancinginlinemode.html

QUESTION 3

Scenario: A Citrix Administrator needs to implement an Citrix ADC solution. The administrator needs the
appliance to be able to grow with the increasing demand for bandwidth and performance.

Which Citrix ADC platform with the administrator choose to accommodate the increasing demand for
bandwidth and performance?

A. SDX

B. VPX

C. MPX
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D. CPX

Correct Answer: C

QUESTION 4

A Citrix Administrator has deployed a new NetScaler MPX appliance in the demilitarized (DMZ) with one interface in the
DMZ and the other on the internal network.

In which mode should the administrator deploy the NetScaler?
A. One-Arm

B. Two-Arm

C. Forward Proxy

D. Transparent

Correct Answer: D

QUESTION 5

Scenario: A Junior Citrix Administrator needs to create a Content Switching virtual server on a NetScaler high
availability (HA) pair. The NSIP addresses are 192.168.20.10 and 192168.20.11. The junior administrator connects to
NSIP address 192.168.20.10 and saves the changes. The following day, a Senior Citrix Administrator tries to test the
new Content Switching virtual server, but it is NOT working. The senior administrator connects to the HA pair and
everything the junior administrator configured is gone. Why did the NetScalers lose the newly added configurations?
A. The NetScaler appliances are NOT at the same firmware version

B. The junior administrator connected to the NSIP of the secondary NetScaler in the HA pair

C. Both NetScalers in the HA pair restarted overnight, losing the configuration

D. The junior administrator made the changes and did NOT force a failover to save the configuration

Correct Answer: C
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